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Section 1 - PaperI-English Language 

 

Read the following passage and answer the questions 
that follow: 

A bullion coin is a coin struck from precious metal and kept 
as a store of value or an investment rather than used in 
day-to-day commerce. A bullion coin is distinguished by 
an explicit statement of weight (or mass) and fineness on 
the coin; this is because the weight and composition of 
coins intended for legal tender is specified in the coinage 
laws of the issuing nation, and therefore there is no need 
for an explicit statement on the coins themselves. The 
United Kingdom defines investment coins more 
specifically as coins that have been minted after 1800, 
have a purity of not less than 900 thousandths and are, or 
have been, legal tender in their country of origin. Under 
United States law, "coins" that fail the last of these 
requirements are not coins at all, and must be advertised 
as "rounds" instead. Bullion coins are usually available in 
both gold and silver [citation needed], with the exceptions 
of the Krugerrand (note in 2017 the first silver Krugerrand 
was minted) and the Swiss Vreneli, which are only 
available in gold. The American Eagle and Canadian Gold 
Maple Leaf series are available in gold, silver, platinum, 
and palladium. Bullion coins are typically available in 
various weights. These are usually multiples or fractions 
of 1 troy ounce, but some bullion coins are produced in 
very limited quantities in kilograms or heavier. Bullion 
coins sell for a premium over the market price of the metal 
on the commodities exchanges. Reasons include their 
comparative small size and the costs associated with 
manufacture, storage and distribution. The amount of the 
premium varies depending on the coin's type and weight 
and the precious metal. The premium also is affected by 
prevailing demand.The ISO currency code for gold bullion 
is XAU. ISO 4217 includes codes not only for currencies, 
but also for precious metals (gold, silver, palladium and 
platinum, by definition expressed per one troy ounce, as 
compared to "1 USD") and certain other entities used in 
international finance, e.g. special drawing rights.  

1) XAU is the ISO currency code for?  

A) Gold Bullion  
B) Silver bullion  
C) Platinum bullion  
D) Palladium bullion  

  
 
2) The American Eagle and Canadian Gold Maple Leaf 
series are available in  

A) Palladium  
B) Bronze  

 
  

C) Nickel Silver  
D) Iridium  

 

 
 
3) The weight and the fineness is not explicitly stated in 
the coin because  

A) it reduces its value  
B) it is confidential  
C) it varies for each transaction  
D) it is specified in the coinage law  

 

 
 
4) A Bullion coin is used as  

A) an ISO currency  
B) a currency in stock market  
C) a currency in everyday transaction  
D) an investment  

 

 
 
5) The amount of the coin premium depends on the  

A) bargain price  
B) buyer  
C) prevailing demand  
D) seller  

 

 
 
6) Find the most appropriate opposite meaning word: 
COMMISSIONED  

A) Terminated  
B) Started  
C) Closed  
D) Finished  

 

 
 
7) Select the correct option.  
My __________ teacher's name is William. 

 
A) the  
B) an  
C) a  
D) no article  
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8) Fill in the blank with the correct option. 
 
I have __________ brothers.  

A) one  
B) a  
C) two  
D) not  

 

 
 
9) Select the correct form of verb from the given options.  
My brother ____________ football in the same club as 
me. 

 
A) would have played  
B) has played  
C) played  
D) plays  

 

 
 
10) Choose the most appropriate similar meaning word: 
TIMID  

A) Unabashed  
B) Extroverted  
C) Courageous  
D) Demure  
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Section 2 - PaperI-Education and General Awareness 

 

11) The basic recommendations of which of the following 
policies/commissions were related to national form of 
education, more emphasis on learning, delinking degree 
for any service, vocationalization of education, importance 
on moral values etc.?  

A) National Commission of Education, 1986  
B) National Policy on Education, 1968  
C) New Educational Policy, 1986  
D) National Commission of Education, 1968  

 

 
 
11) ନମିȪମżରୁ େକଉଁ କମିସନ / ପଲିସୀ ର େମୗଳକି ଅନୁେମାଦନଗଡୁକି ǆଲା 
ଜାତୀୟ Ʊର ଶŁିା, ଅżୟନ ଉପେର ଅǇକ ଗୁରୁŭ େଦବା, କାଯƽȻ ଦŁତା ଠାରୁ 
ଡ଼ǲିୀକୁ ଅଲଗା ରǅବା, ଧƃା ମଳୂକ ଶŁିା, ନୀତଗିତ ଶŁିା ଉପେର ଗରୁୁŭ ଆଦ?ି  

A) ନȻାସନାଲ କମିସନ ଅଫ ଏଜୁେକସନ, 1986  

B) ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1968  
C) ନୟୁି ଏଜୁେକସନାଲ ପଲିସ,ି 1986  

D) ନȻାସନାଲ କମିସନ ଅଫ ଏଜୁେକସନ 1968  
 

 
 
12) The University Grants Commission selected which of 
the following departments as Centre of Advanced Study 
In Education (CASE) in the year 1963?  

A) Faculty of Education and Psychology, Baroda  
B) Faculty of Education, Gwalior  
C) Faculty of Education, Bhopal  
D) Faculty of Education and Psychology, Mumbai  

 

 
 
12) ନମିȪମżରୁ େକଉଁଟ ି ବଭିାଗ କୁ େସŠର ଅଫ ଆଡ଼ଭାନȷଡ଼ ƨଡ଼ିଜ଼ ଇଂ 
ଏଡୁେକସନ (ସ.ିଏ.ଏସ.ଇ) ରୂପ େର 1963 ମସହିା େର ୟୁନଭିସǃଟ ି ǲାŠସ 
କମିସନ Ÿାରା ଚୟନ କରା ଯାଇǆଲା?  

A) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ ଆŢ ସାଇେକାେଲାଜ,ି ବେରାଦା  
B) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ, େଗାଆଲିଆର  

C) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ, େଭାପାଲ  
D) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ ଆŢ ସାଇେକାେଲାଜ,ି ମମୁȴାଇ  

 

 

 

13) Which of the following systems of education, based on 
the accepted structure of 10+2+3 was proposed by 
National Policy on Education, 1986?  

A) Social system of education  
B) Primary system of education  
C) National system of education  
D) Unitary system of education  

  
 
13) 10+2+3 ସଂରଚନା ଉପେର ଆଧାରିତ ନମିȪ ମżରୁ େକଉଁ ଶିŁା ବȻବƳା 
ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1986 Ÿାରା ȄƱାବତି େହାଇǆଲା?  

A) ଶŁିାର ସାମାଜକି ବȻବƳା  
B) ଶŁିାର Ȅାଥମକି ବȻବƳା  
C) ଶŁିାର ଜାତୀୟ ବȻବƳା  
D) ଶŁିାର ଏକକ ବȻବƳା  

  
 
14) Entomology is a branch of zoology that deals with the 
scientific study of  

A) the birds  
B) the animal behaviour  
C) the formation of rocks  
D) the insects  

 

 
 
14) ଏେŠାେମାେଲାଜ ିȄାଣୀ ବŗିାନର ଏକ ଶାଖା ଯାହା ____ ର େବŗୖାନକି 
ଅżୟନ ସହତି ଜଡତି |  

A) ପŁୀ  
B) ପଶୁମାନŋ ବȻବହାର  

C) ପଥର ସƨୃି  
D) କୀଟ  

  
 

15) The power of the Supreme Court of India to adjudicate 
disputes between the Government of India and one or 
more States or between the Government of India and any 
State falls under which of the following jurisdictions?  

A) Appellate Jurisdiction  
B) Original Jurisdiction  
C) Advisory Jurisdiction  
D) Writ Jurisdiction  
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15) ଭାରତ ସରକାର ଓ ଏକ ବା ଅǇକ ରାଜȻ ମż ବା ଭାରତ ସରକାର ଓ 
େକୗଣସ ିରାଜȻ ମżେର ǆବା ବବିାଦର ଫଇସଲା କରବିା ପାଇଁ ଭାରତର ସେବƽାő 
ନȻାୟାଳୟର ǆବା ଶĽି ନମିȪମżରୁ େକଉଁ ଜୁରସିଡିŅǜ  ମżେର ଆସଛୁ?ି  

A) ଆପେିଲǓ  ଜୁରସିଡŅିǜ   
B) ଅରଜିନିାǤ  ଜୁରସିଡŅିǜ   
C) ଆଡଭାଇଜର ିଜୁରିସଡŅିǜ   
D) ରǓି  ଜୁରିସଡŅିǜ   
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Section 3 - PaperI-Reasoning 

16) In a certain code language DEMAND is coded as 
MEDDNA. How would HYBRID be written in that code 
language?  

A) BYHRID  
B) DIRBYH  
C) BYHDIR  
D) HYBDIR  

 

 
 
16) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର DEMAND କୁ ସାେŋତକି ଭାେବ 
MEDDNA କୁହାଯାଏ । େସହ ିସାେŋତକି ଭାଷାେର HYBRID କୁ କଭିଳ ି
େଲǅେବ?  

A) BYHRID  
B) DIRBYH  
C) BYHDIR  
D) HYBDIR  

 

 
 
17) The length of a box is measured as 25 cm instead of 
40 cm. What is the % error in the measurement?  

A) 7.5  
B) 37.5  
C) 12.5  
D) 25  

 

 
 
17) ଏକ ବାŅ ମାପିବାରୁ ଏହା 40 େସŠମିଟିର ବଦଳେର 25 େସŠମିିଟର େବାଲି 
ଜଣାପଡଲିା । ମାପେର େକେତ Ȅତଶିତ ଭୁǤ େହାଇǆଲା ?  

A) 7.5  
B) 37.5  
C) 12.5  
D) 25  

 

 
 

18) Instruction: 
In the following questions mark: 
 
1, if the question can be answered with the help of 
statement I alone. 
2, if the question can be answered with the help of 
statement II alone. 
3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 

What is the smallest angle in the triangle ABC? 
 
Statement I : Angle B is 90 degrees. 
Statement II : Sum of the other two angles is also 90 
degrees.  

A) 1  
B) 4  
C) 2  
D) 3  

 

 
 
18) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

ABC ǿଭୂିଜେର ସବୁଠୁ େଛାǓ େକାଣ େକଉଁଟା? 

ମŽବȻ I :  େକାଣ B ଯାହା 90 ଡǲିୀ  । 

ମŽବȻ II :  ଅନȻ ଦୁଇ େକାଣ ମଶିିକର ିମż 90 ଡǲିୀ  । 

 
A) 1  
B) 4  
C) 2  
D) 3  
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19) Instruction: Below mentioned are statements followed 
by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance 
from the commonly known facts. Read all the conclusions 
and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly 
known facts.  
Statements: 
Some classes are seminars. 
All the seminars are reports. 

Conclusions: 
I) All the reports are seminars. 
II) Some classes are reports. 

 
A) Only II follows  
B) Both I and II follow  
C) None of the conclusions follow  
D) Only I follows  

 

 
 
19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: 
କଛି ିକȲାସ ଗଡୁକି େସମିନାǣ  । 
ସବୁ େସମିନାǣ ଗଡୁକି ରେିପାଟƽସ । 

 
ନƦିସƽ:  

I) ସବୁ ରେିପାଟƽ ଗଡୁକି େସମିନାǣ।  

II) କଛି ିକȲାǩ େହଉଛ ିରେିପାଟƽ । 

 
A) େକବଳ II ଅନୁସରଣ କରŽୁ  
B) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  
C) େକୗଣସ ିବ ିନଯିƽାସକୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
D) େକବଳ I ଅନୁସରଣ କରŽୁ  

 

 
 
 
 
 
 
 

20) Instruction: Below mentioned are statements followed 
by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance 
from the commonly known facts. Read all the conclusions 
and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly 
known facts.  
Statements: 
Some programs are codes. 
Some codes are queries. 
Some queries are solutions. 

Conclusions: 
I) Some programs are queries. 
II) Some codes are solutions. 
III) Some solutions are queries. 
IV) Some solutions are codes. 

 
A) Only I follows  
B) Only IV follows  
C) Only II follows  
D) Only III follows  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: 
କଛି ିେȄାǲାମ େହଉଛ ିେକାǕ।  
କଛି ିେକାǕ େହଉଛ ିȄଶȪ । 
କଛି ିȄଶȪ େହଉଛ ିସମାଧାନ । 
  

ନƦିସƽ:  

I)  କଛି ିେȄାǲାମ େହଉଛ ିȄଶȪ ।  

II)  କଛି ିେକାǕ େହଉଛ ିସଲୁȻସନ    

lll) କଛି ିସଲୁȻସନ େହଉଛ ିȄଶȪ।  

IV) କଛି ିସଲୁȻସǜ େହଉଛ ିେକାǕ। 

 
A) େକବଳ I ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ  IV ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ II ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ III ଅନୁସରଣ କରŽୁ ।  
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Section 4 - PaperI-Teaching Aptitude 

21) Which of the following terms can be defined as the 
ideas that a person or a group believes to be right or 
wrong, good or bad, attractive or undesirable?  

A) Values  
B) Norms  
C) Culture  
D) Behaviour  

 

 
 
21) ନମିȪ ଶƑାବଳୀ ମżରୁ େକଉଁ ଆଦଶƽଟ ିବȻାଖȻା କରୁଛ ିେଯ େଗାଟଏି ମଣିଷ 
ବା େଗାଟଏି େଗାƪୀଟ ିଠକି କି ଭୁଲ, ଭଲ ବା ଖରାପ, ଆକଷƽଣୀୟ ବା ଅȄୀତକିର 
ଅେଟ?  

A) ମଲୂȻେବାଧ  

B) ମାନ  
C) ସଂƯାର  

D) ଆଚରଣ  
 

 
 
22) "Responsibility, Respect, Care, Trustworthiness, 
Citizenship'' are all traits used to help instil a positive 
learning environment for the children. These can be 
categorised as  

A) Personality traits  
B) Character traits  
C) Individualistic traits  
D) Ideological traits  

 

 
 
22) ଦାୟିŭ, ସƙାନ, ଯū, ବƤିସନୀୟତା, ନାଗରକିତା ଆଦ ିସମƱ ବେିଶଷତା 
ପଲିାମାନŋ ପାଇଁ ଏକ ସକାରାŮକ ଅżୟନର ପରେିବଶ ନମିƽାଣେର ସାହାଯȻ 
କରବିା ପାଇଁ ବȻବହାର କରାଯାଏ | ଏହ ି ଗୁଡ଼କୁି େକଉଁ ରୂପେର ବଗƽୀକୃତ 
କରାଯାଇପାେର?  

A) ବȻĽିŭ ବେିଶଷତା  
B) ଚରǿିଗତ ବେିଶଷତା  
C) ବȻĽିପୂରକ ବେିଶଷତା  
D) ବଚିାରଗତ ବେିଶଷତା  

 

 
 
 

23) Which of the following agencies of education helps the 
child for its full physical growth and motor coordination 
through proper food, nutrition, health habits, exercise and 
immunization programmes?  

A) Newspapers  
B) Radio  
C) Home  
D) Library  

 

 
 
23) ଶŁିାର ନେିମȪାĽ ଅନୁƪାନଗଡ଼ୁକି ମżରୁ େକଉଁଟ ିଉପଯĽୁ ଖାଦȻ, େପାଷଣ, 
ƸାƳȻାଭȻାସ, ବȻାୟାମ ଏବଂ ଟକିାକରଣ କାଯƽȻǰମ ଗଡ଼ୁକି Ÿାରା ଶଶୁିକୁ ତା’ର 
ଶାରୀରକି ବକିାଶ ଏବଂ ଗତବିǇି ପୂରଣ କରିବାେର ସାହାଯȻ କରଥିାଏ?  

A) ସମȴାଦପǿ  
B) େରଡଓି  
C) ଗୃହ  

D) ପାଠାଗାର  
 

 
 
24) What is the full form of RTI?  

A) Response to Information  
B) Right to Indifference  
C) Response to Intervention  
D) Right to Information  

 

 
 
24) ଆǣ ଟଆିଇ (RTI)ର ପୂťƽ Ƹରୂପ କ’ଣ?  

A) େରସପନȷ ଟୁ ଇନଫେମƽସନ  

B) ରାଇǓ  ଟୁ ଇǜ ଡଫିେରନȷ  
C) େରସପନȷ ଟୁ ଇŠରେଭନସନ  
D) ରାଇǓ  ଟୁ ଇǜ ଫେମƽସନ  

 

 
 

25) Which of the following skills are NOT related to Life 
skills?  

A) Thinking skills  
B) Memory skills  
C) Emotional skills  
D) Social skills  
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25) ନମିȪମżରୁ େକଉଁ ଦŁତା ଜୀବନ ଦŁତାଗଡୁକି ସହତି ସƓĽୃ ନୁେହ?ଁ  

A) ଭାବବିାର ଦŁତା  
B) ମେନ ରǅବାର ଦŁତା  
C) ଭାବାେବଗ ଦŁତା  
D) ସାମାଜକି ଦŁତା  

 

 
 
26) Which of the following options is INCORRECT with 
reference to the organizations part of the joint initiative 
that launched the Computer Literacy and Studies 
programme in 1984?  

A) National Council of Educational Research and 
Training  

B) Council for the Indian School Certificate Examinations 
C) Department of Electronics  
D) Ministry of Human Resource Development  

 

 
 
26) 1984 ମସିହାେର ଆରƗ େହାଇǆବା କƓୁȻଟର ସାŁରତା ଏବଂ ଶିŁା 
କାଯƽȻǰମର ମିଳତି ଅଭିଯାନେର ଅଂଶǆବା ଅନୁƪାନ େŁǿେର ନେିମȪାĽ ମżରୁ 
େକଉଁ ବକିƝ ଭୁǤ ?  

A) ଜାତୀୟ ଶŁିା ଗେବଷଣା ଏବଂ ତାଲିମ ପରଷିଦ  
B) ଭାରତୀୟ Ưଲୁ ସାଟǃଫିେକǓ  ପରୀŁା ପରଷିଦ  

C) ଇେଲେକȡəାନŅି ବଭିାଗ  
D) ମାନବ ସମȴଳ ବକିାଶ ମſାଳୟ  

 

 
 
27) The way students form their groups in a class is called  

A) class atmosphere  
B) class arrangement  
C) group dynamics  
D) group mechanism  

 

 
 
27) ଛାǿଛାǿୀମାେନ େȎଣୀେର ନଜିର ଏକ େଗାƪୀ ତଆିରି କରବିାର ଉପାୟକୁ 
କଣ କୁହାଯାଏ ?  

A) େȎଣୀ ପରେିବଶ  

B) େȎଣୀ ବȻବƳା  
C) େଗାƪୀ ଗତଶିୀଳତା  
D) େଗାƪୀ ବȻବƳା  

 

28) A Student who is outgoing and very confident and 
easily interacts with strangers is called  

A) ambivert  
B) extrovert  
C) extraordinary  
D) introvert  

 

 
 
28) ଜେଣ ବଦିȻାଥƽୀ ଯିଏ ଅପରଚିତି ବȻĽିŋ ସହତି ସହଜେର ମଶିି କଥା 
େହାଇପାେର ଏବଂ ଖୁǟ ଆŮବƤିାସୀ ତାŋୁ କଣ କୁହାଯାଏ ?  

A) ଉଭୟମଖୁୀ  
B) ବହମିƽଖୁୀ  
C) ଅସାଧାରଣ  

D) ଅŽମƽୁଖୀ  
 

 
 
29) In which year was the National Council of Educational 
Research and Training set up as an autonomous 
organisation by the Government of India ?  

A) 1971  
B) 1961  
C) 1951  
D) 1959  

 

 
 
29) ଭାରତ ସରକାରŋ Ÿାରା ଜାତୀୟ େଶୖŁିକ ଗେବଷଣା ଏବଂ ତାଲିମ ପରଷିଦ 
ଏକ Ƹୟଂ ଶାସତି ଅନୁƪାନ ଭାବେର େକଉଁ ବଷƽ Ƴାପତି କରାଯାଇǆଲା?  

A) 1971  
B) 1961  

C) 1951  
D) 1959  

 

 
 
30) National Curriculum Framework came out in  

A) 2005  
B) 2007  
C) 2003  
D) 2001  
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30) ଜାତୀୟ ପାଠȻǰମ ଢାřା େକଉଁ ମସହିାେର ଆରƗ କରାଯାଇǆଲା ?  

A) 2005  
B) 2007  

C) 2003  
D) 2001  
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Section 5 - PaperII-Odia Language 

 

31) ୧୯. ନେିମȪାĽ ମżରୁ େକଉଁଟ ିଉପସଗƽେର ଗଠିତ ଶƑ ନୁେହ ଁ?  

A) Ȅଗାଢ  

B) ଉପନୀତ  
C) Ȅକୃƨ  
D) ଫିେରାଜ  

 

 
 
32) ବୁȻŬŧ ିଅନୁସାେର େଯଉଁ ଶƑର ଅଥƽ ଅେନକŋୁ ବୁଝାଇ ବାର ସƗାବନା ǆେଲ 
ମż ନŶିǃƨ ଭାବେର ଜଣକୁ ବା େଗାଟଏି ବƱୁକୁ ବୁଝାଏ ତାହାକୁ କ ିଶƑ କୁହାଯାଏ 
?  

A) ରୁଢ଼   
B) େଯୗଗିକ  

C) େଯାଗରୂଢ଼   
D) ଯଗୁȯ  

 

 
 
33) ଯǇୁƪରି ଧାମǃକ ǆେଲ | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ ଅେଟ ?  

A) ନାମ ବାଚକ  
B) ବେିଧୟ   
C) ସମȴƆ ବାଚକ  

D) ତୁଳନାŮକ  
  
 
34) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘େକାକଳି’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ?  

A) ବହିŏ   

B) ଶକୁŽ   

C) Ÿଜି   
D) ପିକ  

 

 
 

35) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ପବƽତ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ?  

A) ଅଚଳ   

B) ବାତ   

C) ପବମାନ  
D) ସମୀର  

 

36) ନମିȪଲିǅତ େକଉଁ ଉପସଗƽଟ ିȄାୟତଃ ମƃ ବା ନƃିା ଉେŵଶȻେର Ȅେୟାଗ 
େହାଇଥାଏ ?  

A) ଦୁǣ   
B) ଅǇ  

C) ସ ୁ  
D) Ȅ  

 

 
 
37) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିେଦଶଜ ଶƑ ନୁେହ?ଁ  

A) େକାରଖ  
B) ଅଖାଡୁଆ  

C) େତାଟା  
D) କଅଳଁ  

 

 
 
38) ‘ଦୁଇ ପଇସାର ମଣିଷ’- ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ମଖୂƽ  
B) ପŢିତ  

C) ମଲୂȻହୀନ  

D) ଅସାଧୁ   
 

 
 
39) ଓଡ଼ଆି ବťƽମାଳା ମżରୁ େକଉଁଟ ିଏକ ଯĽୁାŁର ଏବଂ ତାହା ଏକ Ƹତſ ବťƽ 
ଅେଟ ?  

A) ୱ  

B) ଙ  
C) ଞ  

D) Ł  
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40) ତତଲା ପାଣେିର ଘର େପାେଡନ  ି | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ 
ଚƺିଟ କର?  

A) ଗଣୁ ବାଚକ  
B) ଅବƳା ବାଚକ  
C) ପୂରଣ ବାଚକ   

D) ତୁଳନାŮକ  
 

 
 
41) ‘ଅକାଳ କୁଷȯାŢ’– ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଅଦନିଆି ବଷƽା    
B) ନତିାŽ ଅେଯାଗȻ    
C) ଅସହାୟର ସାହା   
D) ଅƝ ବୁŶି  

 

 
 
42) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘କୁŰିତ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ସƃୁର    

B) ଅସƃୁର   
C) ଅŁମ  

D) ଘଣୃȻ   
 

 
 
43) ପťୂƽ+ଇƃୁ = ?  

A) ପୂେťƽƃୁ  

B) ପťୂƽƃୁ  
C) ପୂେťƽାƃୁ  
D) ପťୂǃƃୁ  

 

 
 
44) କǡ କଥା କହ, େବଶି କାମକର | େରଖାŋିତ ପଦ ଦୁଇଟ ିକ ିȄକାର ବେିଶଷଣ 
?  

A) ଅବƳା ବାଚକ  
B) ଗଣୁ ବାଚକ  

C) ପରମିାଣ ବାଚକ  
D) ପୂରଣ ବାଚକ  

 

 
 

45) 'ଦŽୀ' ଶƑେର େକଉଁ ȄତȻୟ ଲାଗିଛ ି?  

A) ଇǜ  
B) ଅǜ  

C) ତǜି  
D) ଈ  
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Section 6 - PaperII-Mathematics 

 

46) The product of two numbers is 768. If the H.C.F. of 
these numbers is 16, then the greater number is  

A) 98  
B) 32  
C) 24  
D) 48  

 

 
 
46) ଦୁଇଟ ିସଂଖȻାର ଗଣୁଫଳ 768। ଯଦ ିଏହ ିସଂଖȻାଗଡ଼ୁକିର ଗ.ସା .ଗୁ  16 
ହୁଏ େତେବ ବୃହŧମ ସଂଖȻା େହଉଛ ି 

A) 98  
B) 32  

C) 24  
D) 48  

 

 
 
47) A triangle in which all the three sides are of different 
length is called  

A) Scalene triangle  
B) Congruent triangle  
C) Isosceles triangle  
D) Equilateral triangle  

 

 
 
47) ଏକ ǿିଭୁଜ େଯଉଁǆେର ସମƱ ତନିଟି ିବାହୁ ଭିƊ ଭƊି ଲମȴ ଥାଏ, ତାହାକୁ 
_________ କୁହାଯାଏ।  

A) ବଷିମବାହୁ ǿଭୁିଜ  

B) ଅନୁକୂଳ ǿଭୁିଜ  
C) ସମŸବିାହୁ ǿଭୁିଜ  

D) ସମବାହୁ ǿଭୁିଜ  
 

 
 
48) If U={1,2,3,4,5}, R={1,3,5}, S={3,4,5}, T={2,4}, then ((S 
U R )∩ T )  

A) {1,2,3,5}  
B) {3,4,5}  
C) {2,3,5}  
D) {4}  

 

 

48) ଯଦ ିU={1,2,3,4,5}, R={1,3,5}, S={3,4,5}, T={2,4}, େତେବ 
((S U R )∩ T )  

A) {1,2,3,5}  
B) {3,4,5}  
C) {2,3,5}  
D) {4}  

 

 
 
49) If x% of 25 = 2.125, then x =  

A) 9.5  
B) 9  
C) 8  
D) 8.5  

 

 
 
49) ଯଦ ି25ର x% = 2.125, ତା’େହେଲ x =  

A) 9.5  
B) 9  

C) 8  
D) 8.5  

 

 
 
50) What is the ratio of the area of the inscribed circle to 
the area of the circumscribed circle of a square with a 
diagonal of 2 m in length?  

A) 2 : 1  
B) 4 : 3  
C) 3 : 4  
D) 1 : 2  

 

 
 
50) 2 ମିଟର େଦଘୖƽȻ ବଶିƨି କťƽ ǆବା ଏକ ବଗƽେŁǿର ବାହାେର ଏବଂ ଭିତେର 
ଅŋିତ େହାଇǆବା ବୃŧର େŁǿଫଳ ମżେର ଅନୁପାତ େକେତ?  

A) 2 : 1  
B) 4 : 3  

C) 3 : 4  
D) 1 : 2  
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51) What is the area of a rectangle whose perimeter is 94 
cm and the diagonal is 37 cm?  

A) 630 cm2  
B) 750 cm2  
C) 920 cm2  
D) 420 cm2  

 

 
 
51) 94 େସମି ପରସିୀମା ଓ 37 େସମି କťƽ ǆବା ଏକ ଆୟତେŁǿର େŁǿଫଳ 
େକେତ?  

A) 630 ବଗƽ େସମ ି 

B) 750 ବଗƽ େସମ ି 
C) 920 ବଗƽ େସମ ି 

D) 420 ବଗƽ େସମ ି 
 

 
 
52) After simplification, the expression 6(m − 3n) + 3m(n 
+ 5) − 2n(3 − m) simplifies to  

A) 21m-24n+5mn  
B) 19m+22n-5mn  
C) 24m-21n+5mn  
D) 19m+21n-6mn  

 

 
 
52) ସରଳୀକରଣ େହବା ପେର, ସମୀକରଣ 6(m − 3n) + 3m(n + 5) − 
2n(3 − m) ର ସରଳୀକୃତ ରୂପ େହବ  

A) 21m-24n+5mn  

B) 19m+22n-5mn  

C) 24m-21n+5mn  
D) 19m+21n-6mn  

 

 
 
53) If a merchant A marks the price of a product 12.5% 
higher than its original value and another merchant marks 
the price of the same product 25% lower than its original 
value and if the difference between the two prices of the 
product is Rs. 30, what is the original value of the product?  

A) Rs. 90  
B) Rs. 70  
C) Rs. 100  
D) Rs. 80  

 

 

53) ବȻବସାୟୀ A େକୗଣସ ି ଉŬାଦର ମୂଲȻର ଏହାର ମୂଳ ମଲୂȻ ତୁଳନାେର 
12.5% ଅǇକ ଚƺିଟ କରŽ ିଏବଂ ଅନȻ ଜେଣ ବȻବସାୟୀ େସହ ିଉŬାଦର ମଲୂȻ 
ମୂଳ ମୂଲȻ ତୁଳନାେର 25% କǡ ଚƺିଟ କରŽି। ଯଦ ି ଉŬାଦର ଦୁଇଟ ିମଲୂȻ 
ମżେର ଫରକ Rs. 30 େତେବ ଏହାର Ȅକୃତ ମଲୂȻ କ’ଣ?  

A) Rs. 90  

B) Rs. 70  

C) Rs. 100  

D) Rs. 80  
 

 
 
54) What is the area of a rectangle whose perimeter is 16 
cms and length is 6 cms?  

A) 12 cm2  
B) 10 cm2  
C) 23 cm2  
D) 22 cm2  

  
 
54) ପରǇି 16 େସମି ଓ ଲମȴ is 6 େସମି ǆବା ଆୟତକାର େŁǿ ର େŁǿଫଳ 
େକେତ ?  

A) 12 େସମି2  
B) 10 େସମି2  
C) 23 େସମି2  
D) 22 େସମି2  

  
 
55) If a set has 3 elements in it, then its power set will have 
how many elements?  

A) 8  
B) 27  
C) 10  
D) 6  

 

 
 
55) ଯଦ ି େଗାଟଏି େସଟେର 3 ଟ ି ଉପାଦାନ ଥାଏ, େତେବ ଏହାର ପାୱାର 
େସଟେର େକେତାଟ ିଉପାଦାନ ରହବି?  

A) 8  
B) 27  
C) 10  

D) 6  
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56) The ratio of marks obtained by Anand and Banu is 6 : 
5. If the combined average of their percentage is 68.75 
and their sum of the marks is 275, what is the total marks 
for which the exam was conducted?  

A) 200  
B) 100  
C) 500  
D) 300  

 

 
 
56) ଆନƃ ଏବଂ ବନୁ ପାଇǆବା ନମȴର ଅନୁପାତ 6:5 । ଯଦ ି େସମାନŋ 
Ȅତଶିତର ମଳିତି ହାରାହାର ି 68.75 ଏବଂ େସମାନŋ ନମȴରର ସମƨି 275, 
େତେବ. ପରଚିାଳତି େହାଇǆବା ପରୀŁାର ସମୁଦାୟ ନମȴର େକେତ?  

A) 200  

B) 100  
C) 500  
D) 300  

 

 
 
57) What is the value of √45796?  

A) 116  
B) 114  
C) 216  
D) 214  

 

 
 
57) √45796 ର ମଲୂȻ େକେତ?  

A) 116  
B) 114  

C) 216  
D) 214  

 

 
 
58) A bag contains Rs. 50, Rs. 20 and Rs. 10 currency 
notes in the ratio 5 : 6 : 4 amounting to Rs. 3280. The 
number of currency notes of each type respectively is  

A) 40, 48, 32  
B) 24, 100, 8  
C) 48, 50, 8  
D) 50, 38, 40  

 

 
 

58) େଗାଟଏି ବȻାǋ େର 5 : 6 : 4 ଅନୁପାତେର ସମଦୁାୟ Rs. 3280 ପରମିାଣର 
Rs. 50, Rs. 20 and Rs. 10 ମୁȁାର ରହଛି।ି ȄେତȻକ Ȅକାର ମୁȁା 
ଯଥାǰେମ େକେତ ସଂଖȻାେର ରହଛି?ି  

A) 40, 48, 32  
B) 24, 100, 8  
C) 48, 50, 8  

D) 50, 38, 40  
 

 
 
59) The H.C.F. of two numbers is 13 and their L.C.M. is 
5409. If one of the numbers is 117, then the other number 
is  

A) 601  
B) 308  
C) 301  
D) 318  

 

 
 
59) ଦୁଇଟ ିସଂଖȻାର ଗ.ସା.ଗୁ.13 ଏବଂ େସମାନŋର ଲ.ସା.ଗ.ୁ 5409 । ଯଦ ି
େସଗଡ଼ୁକି ମżରୁ େଗାଟଏି ସଂଖȻା 117 , େତେବ ଅନȻ ସଂଖȻାଟ ି 

A) 601  
B) 308  

C) 301  
D) 318  

 

 
 
60) If (5/4)(x + 4) > (1/2)(x + 8) − 8, then the value of 'x' is  

A) x<-12  
B) x>-12  
C) x>12  
D) x>-10  

 

 
 
60) ଯଦ ି(5/4)(x + 4) > (1/2)(x + 8) − 8, େତେବ 'x' ର ମଲୂȻ େହଉଛ ି 

A) x<-12  
B) x>-12  

C) x>12  
D) x>-10  
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Section 7 - PaperII-Social Science 

 

61) Who among the following was the chairman of 
credential committee?  

A) Dr. Krishnamachari  
B) A.V. Thakkar  
C) B. Pattabhi Sitaramayya  
D) Alladi Krishnaswami Ayyar  

 

 
 
61) ନେିମȪାĽ ମżରୁ କିଏ ବƤିସନୀୟ କମିଟରି ଅżŁ ǆେଲ?  

A) ଡ. ǰƫିାମାଚାରୀ  
B) ଏ.ଭି. ଠļର  

C) ବ.ି ପŝାଭି ସୀତାରାମାୟା  
D) ଆଲାଦ ିǰƫିାƸାମୀ ଆୟାର  

 

 
 
62) What is the name of the award given by the 
Government of India to village panchayats with the 
objective to promote rural sanitation?  

A) Nirmal Gram Puraskar  
B) Ujjwal Gram Puraskar  
C) Swachh Gram Puraskar  
D) Saaf Gram Puraskar  

 

 
 
62) ନେିମȪାĽ ମżରୁ େକଉଁ ପରୁƯାର ପରମିଳ ରŁା କରବିା ନମିେŽ ସରକାରŋ 
ତରଫରୁ ǲାମପřାୟତଗଡ଼ୁକୁି Ȅଦାନ କରାଯାଏ?  

A) ନମିƽଳ ǲାମ ପୁରƯାର  

B) ଉŔଳ ǲାମ ପୁରƯାର  
C) ƸŒ ǲାମ ପୁରƯାର  
D) ସାǞ  ǲାମ ପରୁƯାର  

 

 
 
63) Which among the following is a non-renewable but 
recyclable natural resource?  

A) Metals  
B) Fossil fuels  
C) Forest  
D) Wildlife  

 

 

63) ନମିȪଲିǅତ   ମżରୁ େକଉଁ Ȅକାରର ସମȴଳ ନବୀକରଣ ଅେଯ଼ାଗȻ  କŽୁି 
ଚǰୀକରଣ େଯ଼ାଗȻ Ȅାକୃତକି ସମȴଳ ଅେଟ ?  

A) ଧାତୁ  
B) ଜୀବାଶȯ ଇƆନ  

C) ଜŏଲ  
D) ବଣȻȄାଣୀ  

 

 
 
64) Which of the following languages of learning was used 
in Ancient India?  

A) Greek  
B) Latin  
C) Sanskrit  
D) Devanagari  

  
 
64) Ȅାଚୀନ ଭାରତେର ନମିȪଲିǅତ ମżରୁ େକଉଁ ଭାଷାକୁ ଶǅିବା ଭାଷା ରୂପେର 
ବȻବହାର କରାଯାଉǆଲା?  

A) ǲୀକ  

B) ଲାଟǜି  
C) ସଂƯତୃ  
D) େଦବନଗରୀ  

  
 
65) Who among the following freedom fighters led a team 
of revolutionaries to raid a Chittagong Police Armoury in 
1930?  

A) Srendranath  
B) Amirchand  
C) Basant Kumar  
D) Surya Sen  

  
 

65) ନମିȪଲିǅତ ମżରୁ କଏି ǰାŽକିାରୀ ମାନŋର ଏକ ଦଳ କୁ 1930 େର 
ଚŧିେଗାŏ େପାଲିସ ର ଶƲାଗାରେର ଛାପା ମାରǆିେଲ?  

A) ସେୁରƄନାଥ  
B) ଅମିରଚାƃ  

C) ବସŽ କୁମାର  
D) ସୟୂƽ େସǜ  
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66) Which of the following is a huge mass of ice that flows 
like a slow river?  

A) Glacier  
B) Snow  
C) Lake  
D) River  

 

 
 
66) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିବରଫ ର ଏକ ବଶିାଳ ȁବȻମାନ ଅେଟ ଯାହାକ ି
Ǉର ନଦୀ ଭଳ ିȄବାହତି େହଉଥାଏ?  

A) ହମିନଦ  

B) ହମିପାତ  
C) ȑଦ  

D) ନଦୀ  
 

 
 
67) Which gas absorbs the ultra violet rays of the sun 
acting as a filter?  

A) Neon  
B) Ozone  
C) Argon  
D) Nitrogen  

 

 
 
67) ନମିȪଲିǅତ  ଗȻାǩ ଗଡୁକି ମżରୁ େକଉଁ ଗȻାǩ ସଯୂ଼ƽȻର ଅତ ିବାଇେଗଣି ରଶିȯକୁ 
େଶାଧନ କରବିା କାଯ଼ƽȻ କରଥିାଏ  ?  

A) ନୟିǜ  

B) ଓେଜାǜ  

C) ଆଗƽǜ  
D) ଉǚଯ଼ାନ  

 

 
 
68) Which among the following statements is the 
CORRECT explanation for the term meridian?  

A) Meridians are the lines of latitude  
B) Meridians are the lines of longitude  
C) Meridians are called as parallels  
D) Meridians are located at 22.5° North of the Equator  

 

 
 

68) ନମିȪଲିǅତ  ଉĽିଗଡୁକି ମżରୁ େକଉଁ ଉĽିଟ ି ମżƃନି େରଖା ସମȴƆେର 
ସଠǉି  ଅଥƽ Ȅକାଶ  କରୁଛ ି?  

A) ଅŁାଂଶ େରଖାକୁ ମżƃନି େରଖା  କୁହାଯାଏ  
B) ȁାଘମିା େରଖାକୁ ମżƃନି େରଖା  କୁହାଯାଏ  
C) ସମାŁେରଖାକୁ ମżƃନି େରଖା  କୁହାଯାଏ  

D) ବଷୁିବ େରଖାର 22.5⁰  ଡǲିୀ  ଉŧର ଦଗିେର ମżƃନି େରଖା ଅବƳିତ  
 

 
 
69) Who among the following is the Chairman of Rajya 
Sabha as on January 2019?  

A) Venkaiah Naidu  
B) Meira Kumar  
C) Ramnath Kovind  
D) Sumithra Mahajan  

 

 
 
69) ନମିȪଲିǅତ ମżରୁ କଏି ଜାନୁଆରୀ 2019 ଅନୁସାେର ରାଜȻ ସଭାର ଅżŁ 
ଅଟŽ?ି  

A) େଭŋିଆ ନାଇଡ଼ୁ  

B) େମଇରା କୁମାର  
C) ରାମନାଥ େକାବƃି  
D) ସମିୁǿା ମହାଜନ  

 

 
 
70) On which date did Mahatma Gandhi launch the Civil 
Disobedience Movement with his famous Dandi March?  

A) 12th March 1930  
B) 15th August 1932  
C) 30th January 1935  
D) 30th August 1936  

 

 
 
70) େକଉଁ ଦନି େର ଗାƆୀ ତାŋର ȄସିŶ ଦାŢି ଯାǿା ସହତି ସବନିୟ ଅବŗା 
ଆେƃାଳନ କୁ ଆରƗ କରǆିେଲ |   

A) 12 ମାőƽ 1930  
B) 15 ଅଗƨ 1932  
C) 30 ଜାନୁଆରୀ 1935  

D) 30 ଅଗƨ 1936  
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71) Which among the following is an example for abiotic 
resource?  

A) Fisheries  
B) Fauna  
C) Flora  
D) Rocks  

 

 
 
71) ନମିȪଲିǅତ   ମżରୁ େକଉଁ Ȅକାରର ସମȴଳ ଅେଜବୖ ସମȴଳର ଏକ ଉଦାହରଣ 
ଅେଟ ?  

A) ମŰȻସƓଦ  

B) ଜŽୁ ସƓଦ  
C) ଉŹିଦ ସƓଦ  

D) ଶଳିା  
 

 
 
72) Krishnadeva Raya, the most famous king of the 
Vijayanagara Empire belongs to which of the following 
Dynasty?  

A) Sangama  
B) Aravidu  
C) Tuluva  
D) Saluva  

 

 
 
72) ବଜିୟନଗର ସାȈାଜȻର ସବୁଠାରୁ ବଖିȻାତ ରାଜା କୃƫେଦବ ରାୟ ନେିମȪାĽ 
ମżରୁ େକଉଁ ରାଜବଂଶ ସହ ସଂଯĽୁ ǆେଲ ?  

A) ସŏମା  
B) ଆରାବଦୁି  

C) ଟୁଲୁଭା  
D) ସାଲୁଭା  

 

 
 
73) Which among the following imaginary lines are used 
to determine the time of a place on the surface of the 
Earth?  

A) Equator  
B) Parallels  
C) Meridians  
D) Latitudes  

 

 
 

73) ପୃǆବୀପୃଷȤେର େକୗଣସି Ƴାନର ସମୟ  ଜାଣବିା ପାଇଁ 
ନମିȪଲିǅତ  ମżରୁ   େକଉଁ କାƝନକି େରଖା ବȻବହାର କରାେହାଇଥାଏ?  

A) ବଷୁିବ େରଖା  
B) ସମାŁ େରଖା  
C) ମżƃନି େରଖା  
D) ଅŁାଂଶ େରଖା  

 

 
 
74) Who among the following was elected as the 
permanent chairman of the Constituent Assembly?  

A) Dr. K.M. Munshi  
B) Dr. Rajendra Prasad  
C) Dr. B.R. Ambedkar  
D) B.L. Mitter  

 

 
 
74) ନମିȪଲିǅତ ମżରୁ କାହାକୁ ସƖିଧାନ ସଭା କୁ Ƴାୟୀ ଅżŁ ଭାବେର ଚୟନ 
କରାଯାଇǆଲା?  

A) ଡ଼. େକ. ଏମ. ମୁନସ ି 

B) ଡ଼. ରାେଜƄ Ȅସାଦ  
C) ଡ଼. ବ.ି ଆର. ଆେମȴଦକର  
D) ବ.ି ଏଲ. ମିଟǣ  

 

 
 
75) Outer core of the Earth composed of which of the 
following alloys?  

A) Iron and Coal  
B) Coal and Nickel  
C) Iron and Copper  
D) Nickel and Iron  

 

 
 
75) ପୃǆବୀର ବାହȻ ଭାଗ ନମିȪଲିǅତ ମżରୁ େକଉଁ ମିȎ ଧାତୁେର ȄƱୁତ?  

A) େଲୗହ ଏବଂ େକାଇଲା  
B) େକାଇଲା ଏବଂ ନେିକଲ  
C) େଲୗହ ଏବଂ ତମȴା  
D) ନେିକଲ ଏବଂ େଲୗହ  
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Section 8 - PaperII-Science 

76) A small spherical ball falling through a viscous 
medium of negligible density has terminal velocity v. 
Another ball of the same mass but of radius twice that of 
the earlier falling through the same viscous medium will 
have terminal velocity  

A) v  
B) 2v  
C) v/4  
D) v/2  

 

 
 
76) ଏକ େଛାଟ େଗାଲାକାର ବǤ  ନଗଣȻ ଘନŭ ବଶିିƨ ଏକ ଚକିଟିା ମାżମ େଦଇ 
ଅŽମି େବଗ v େର ପଡ଼ଲିା ।  େସହ ିସମାନ ଚକିିଟା ମାżମେର ପଡ଼ǆିବା ସମାନ 
ବƱୁŭ କŽୁି ମାǿ ପବୂƽ ବǤ ର ଦୁଇଗୁଣ ବȻାସାŶƽ ବଶିƨି ଆଉ ଏକ ବǤ ର ଅŽମି 
ଗତ ିେହବ  

A) v  

B) 2v  
C) v/4  

D) v/2  
 

 
 
77) Water rises upto a height h in a capillary tube of certain 
diameter. This capillary tube is replaced by a similar tube 
of 1/3rd the diameter. Now water will rise to the height of  

A) h/3  
B) h/9  
C) 3h  
D) 9h  

 

 
 
77) ଏକ ନŵିǃƨ ବȻାସ ବଶିƨି େକୖଶକି ନଳୀେର ଜଳ ଉőତା h ପଯƽȻŽ ଉଠିଥାଏ 
। ଏହ ିେକଶୖକି ନଳୀ Ƴାନେର 1/3 ବȻାସର ଏକ ସାଦୃଶȻ ନଳୀ Ƴାନତି କରାଗଲା 
। ବŧƽମାନ ଜଳ େକେତ ଉőତା ପଯƽȻŽ ଉଠବି  

A) h/3  
B) h/9  
C) 3h  

D) 9h  
 

 
 

78) Malignant malaria can be caused by which 
microorganism among the following options?  

A) Monascus purpureus  
B) Amoeba  
C) Plasmodium falciparum  
D) Planaria  

 

 
 
78) ଘାତକ େମେଲରଆି ନମିȪ ବକିƝ ଗଡୁକି ମżରୁ େକଉଁ ସୂŃଜୀବ Ÿାରା 
େହାଇପାେର?  

A) େମାନସକସ ପପƽରଅିସ  

B) ଏମିବା  
C) ପȲାଜେମାଡଅିମ ଫାଲସପିାରମ  
D) ପȲାନାରଆି  

 

 
 
79) Chlamydomonas and Spirogyra are genus of which of 
the following microorganisms?  

A) Protozoa  
B) Algae  
C) Fungi  
D) Bacteria  

 

 
 
79) କȲାମାଇେଡାେମାନାସ ଓ ƶାଇେରାଗାଇରା ନମିȪମżରୁ େକଉଁ ସୂŃଜୀବର 
Ȅଜାତ?ି  

A) େȄାେଟାେଜାଆ  

B) ଆଲେଗ  
C) କବକ  
D) ବȻାେକȡରିଆ  

 

 
 

80) Vacuoles are single membrane bound sac like 
vesicles present in cytoplasm of the plant cell. This single 
membrane is known as  

A) Leucoplast  
B) Tonoplast  
C) Chloroplast  
D) Chromoplast  
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80) େଭାେକȻାଲଗଡୁକି େଗାଟଏି ଝơିୀ Ÿାରା ବାƆ ିେହାଇǆବା ମଣୁି ଭଳ ିେଫାଟକା 
ଯାହା ଉŹିଦ େକାଷର ସାଇେଟାପȲାଜǡ  େର ରହଥିାଏ | ଏହ ିଏକକ ଝơିୀକୁ କଣ 
କୁହାଯାଏ?  

A) ଲୁȻେକାପȲାƨ  
B) େଟାେନାପȲାƨ  
C) େକȲାେରାପȲାƨ  

D) େǰାେମାପȲାƨ  
 

 
 
81) If S is stess and Y is Young's modulus of material of a 
wire, then the energy stored in the wire per unit volume is  

A) 2Y/S2  
B) 2S2Y  
C) S/2Y  
D) S2/2Y  

 

 
 
81) ଯଦ ିଏକ ତାରର ବƱୁର ବଳ S ଏବଂ ୟŏ୍ ଗୁଣାŋ Y, େତେବ ତାରର ଏକ 
ଏକକ ଆୟତନେର ସřତି ଶĽି େହଉଛ ି 

A) 2Y/S2  
B) 2S2Y  

C) S/2Y  
D) S2/2Y  

 

 
 
82) Which one of the following reactions are used in black 
and white photography?  

A) Iron nails dipped in copper sulphate solution  
B) Decomposition of silver bromide by sunlight  
C) Reaction of calcium oxide with water  
D) Burning of coal  

 

 
 
82) ନମିȪମżରୁ େକଉଁ Ȅତǰିିୟା ବȲାକ ଏŢ ହȴାଇଟ େଫାେଟାǲାଫିେର ବȻବହାର 
କରାଯାଏ?  

A) ଲୁହା କŠାକୁ କପର ସଲେଫଟ ȁବଣେର ବୁଡାଇବା  
B) ସଯୂƽȻକରିଣ Ÿାରା ସଲିଭର େȆାମାଇଡର ଅପଘଟନ  
C) ଜଳ ସହତି କȻାଲସୟିମ ଅŅାଇଡର Ȅତǰିିୟା  
D) େକାଇଲା ଜଳବିା  

 

83) A stone projected vertically upwards from the ground 
reaches a maximum height h. When it is at a height 3h/4, 
the ratio of its kinetic and potential energies is  

A) 4:3  
B) 3:1  
C) 1:3  
D) 3:4  

 

 
 
83) ଭୂମିରୁ ଲମȴ ଭାବେର ଉପରକୁ ନେିŁପ କରାଯାଉǆବା ଏକ େଗାଡ଼ ିସବƽାǇକ 
h ଉőତାେର ପହେř । େଯେତେବେଳ ଏହା  3h/4 ଉőତାେର ଅଛ ି
େସେତେବେଳ ଏହାର ଗତଜି ଏବଂ Ƴତିଜି ଶĽି ମżେର ଅନୁପାତ େହଉଛ ି 

A) 4:3  

B) 3:1  
C) 1:3  
D) 3:4  

 

 
 
84) In the reaction between the solution of lead (II) nitrate 
and potassium iodide, a yellow colored precipitate is 
formed. Identify the compound formed among the 
following options.  

A) Potassium nitrate  
B) Lead oxide  
C) Potassium iodide  
D) Lead iodide  

  
 
84) ଲିଡ (II) ନାଇେǺଟ ȁବଣ ଓ େପାଟାସିୟମ ଆେୟାଡାଇଡ ମżେର 
Ȅତǰିିୟାେର, ଏକ ହଳଦଆି ରŏର େȄସପିିେଟଟ ସୃƨି ହୁଏ | ତଆିରି େହାଇǆବା 
ଏହ ିେଯୗଗକିଟ ିନମିȪମżରୁ କଣ?  

A) େପାଟାସୟିମ ନାଇେǺଟ  
B) ଲିଡ ଅŅାଇଡ  

C) େପାଟାସୟିମ ଆେୟାଡାଇଡ  
D) ଲିଡ ଆେୟାଡାଇଡ  

  
 
85) Blue Green Algae belongs to the group of prokaryotes 
and is also known as  

A) Actinobacteria  
B) Cyanobacteria  
C) Lactobacillus  
D) Pseudomonas  
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85) ନୀଳ ସବୁଜ େଶୖବାଳ (ବȲ ɰ ǲୀନ ଆଲେଗ) େȄାକାରଓିǓ ସ େଗାƪୀର ଅଂଶ ଓ 
ଏହା ____ ଭାେବ ମż ଜଣାଶଣୁା |  

A) ଆକିȡେନାବȻାେକȡରଆି  
B) ସȻାେନାବȻାେକȡରଆି  
C) ଲାେକȡାବାସଲିସ  

D) ସେୁଡାେମାନାସ  
 

 
 
86) Which of the following options is NOT classified under 
the Kingdom Fungi?  

A) Moulds  
B) Yeast  
C) Worms  
D) Mushroom  

 

 
 
86) ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିକବକ ଜାତ ିଅǇନେର ବଗƽୀକୃତ େହାଇଥାଏ?  

A) ଫିƓ ି 

B) ଇƨ  
C) ଜଆି/କୃମି  
D) ଛତୁ  

 

 
 
87) In which of the following habitats, will plants usually 
have spines instead of leaves?  

A) Aquatic Region Habitat  
B) Desert Region Habitat  
C) Mountain Region Habitat  
D) Grasslands Region Habitat  

 

 
 
87) ନମିȪମżରୁ େକଉଁ ଆବାସେର, ଉŹିଦଗଡୁକିେର ସାଧାରଣତଃ ପǿ ବଦଳେର 
କŠା ରହଥିାଏ?  

A) ଜଳୀୟ ଆବାସ  
B) ମରୁଭୂମି ଆବାସ  
C) ପାହାଡ ଆବାସ  

D) ଚାରଣଭୂମି ଆବାସ  
 

 
 

88) A body is thrown vertically upwards with velocity u. 
The distance travelled by it in the fifth and the sixth 
seconds are equal. The velocity u is given by (Given, g = 
10m/(s^2))  

A) 50 m/s  
B) 75 m/s  
C) 100 m/s  
D) 25 m/s  

 

 
 
88) ଏକ ବƱୁ u େବଗେର ସଧିାଭାବେର ଉପରକୁ ଫିŏାଗଲା । ପřମ ଏବଂ ଷƪ 
େସେକŢେର ଏହା Ÿାରା ଅତǰିମ କରାଯାଇǆବା ଦୂରତା ସମାନ । େବଗ u 
େହଉଛ ି (ଯଦ,ି g = 10m/(s^2))  

A) 50 m/s  

B) 75 m/s  
C) 100 m/s  
D) 25 m/s  

 

 
 
89) According to the work-energy theorem, the work done 
by the net force on a particle is equal to the change in its  

A) potential energy  
B) angular momentum  
C) linear momentum  
D) kinetic energy  

 

 
 
89) କାଯƽȻ-ଶĽି ଉପପାଦȻ ଅନୁଯାୟୀ, ଏକ କଣିକା ଉପେର ସମଦୁାୟ ବଳ Ÿାରା 
ସଂପାଦତି କାଯƽȻ ଏହାର େକଉଁǆେର ପରିବŧƽନ ସହ ସମାନ  

A) Ʊିତଜି ଶĽି  
B) େକାଣୀୟ ଗତ ି 
C) େରǅୖକ ଗତ ି 

D) ଗତଜି ଶĽି  
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90) Read the following statements and choose the 
CORRECT option. 
 
(i) Halophytes are high salinity tolerant plants. 
(ii) Xerophytes are plants that have adapted to the 
conditions where the rate of loss is potentially greater 
than the availability of water.  

A) (i) is FALSE and (ii) is TRUE  
B) (i) is TRUE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
90) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ହାେଲାଫାଇǓ  ଗଡୁକି ଉő ଲବଣାĽ ସହନଶୀଳ ଉŹିଦ | 

(ii) େଜେରାଫାଇǓ  ଗଡୁକି େହଉଛ ିେସହ ିଉŹିଦ ଯିଏ ଏପର ିପରƳିିତେିର ଅନୁକୂଳ 
େହାଇଛŽ ିେଯଉଁଠାେର ଜଳର ଉପଲƒତା ତୁଳନାେର Łତରି ହାର ଅǇକ ଥାଏ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
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Question Paper No:  53608_56  

Answer Key 

1.  A 
2.  A 
3.  D 
4.  D 
5.  C  
6.  A 
7.  D 
8.  C  
9.  D 
10.  D 
11.  C  
12.  A 
13.  C  
14.  D 
15.  B  
16.  C  
17.  B  
18.  B  
19.  A 
20.  D 
21.  A 
22.  B  
23.  C  
24.  D 
25.  B  
26.  B  
27.  C  
28.  B  
29.  B  
30.  A 

 

31.  D 
32.  C  
33.  B  
34.  D 
35.  A 
36.  A 
37.  A 
38.  C  
39.  D 
40.  B  
41.  B  
42.  A 
43.  A 
44.  C  
45.  A 
46.  D 
47.  A 
48.  D 
49.  D 
50.  D 
51.  D 
52.  A 
53.  D 
54.  A 
55.  A 
56.  A 
57.  D 
58.  A 
59.  A 
60.  B  

 

61.  D 
62.  A 
63.  A 
64.  C  
65.  D 
66.  A 
67.  B  
68.  B  
69.  A 
70.  A 
71.  D 
72.  C  
73.  C  
74.  B  
75.  D 
76.  D 
77.  C  
78.  C  
79.  B  
80.  B  
81.  D 
82.  B  
83.  C  
84.  D 
85.  B  
86.  C  
87.  B  
88.  A 
89.  D 
90.  B  
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